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1. Set all independent sources to zero

2. Break the feedback loop by disconnecting a dependent source
3. Call signal right after dependent source: s;

4. Call the return signal by dependent source: s,

Define return ratio of that dependent sourceas R = —s, /s,
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Blackman’s impedance formula
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Power Supplies (Voltage Regulators)
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1. Find R; such that circuits work for no load
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Shunt Voltage Regulators

nhewNR

R
V; AN oV,
K
R
V; —AN (R
Q1 %5{
R, Q2

Q1

16



PN junctions , Forward Biased
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= IZC A pn junction under reverse bias behaves like a capacitor.

Such capacitors are used in ICs as voltage-controlled capacitors.
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v C-V curve is very useful for
A characterization of the devices
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pn Junction: |-V Characteristic
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The minority carrier concentrations on either side of the junction under forward bias
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Amplifier Frequency Response
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Amplifier Frequency Response
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Amplifier Frequency Response
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